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1) Divide 150 into two parts such that the
sum of their reciprocals is 3 /112 . Calculate
both the parts.

150 afr a’r amfr H 50 YR TaHTad
foh 3% geshAl T AT 3 /112 g1l &l
HTITT T IOTAT FYL,

(a) 50, 90 (b) 70, 80 (c) 60, 90 (d) 50, 100




2) 5 bottles cost as much as 2 bags.
The cost of 15 bottles and 4 bags is Rs.
2,000. What is the price (in Rs.) of a
single bag?

5q1dﬂT@ra?|?Fr2§?Tﬁl?lTrﬁ%*l
15 Siddl 3R 4 &7 T HrAd
2,000. Tah ST T HAT (39T :ﬁr)
FIT g7

(a) 200 (b) 215 (c) 240 (d) 250




3) Ankit runs 324 metres every day
for his fitness. According to his daily

routine in how many days he covers
8.1 km.

3fhd 3194T head & folT 8¢ -1
T%\Trr324ﬁaa’i3?r%|34tl?ﬁ

feeterat & 31TaR a8 fhaar faait
¥ 8.1 fra. A Gl T AT §7
(a) 21 (b) 23 (c) 25 (d) 27




4)In a farm, in addition to 48 hens
there are 42 sheep and 11 oxen with

some s
of feet
of heac
shephe

nepherds. If the total number
ne 224 more than the number

s, find the number of
rd.

Th BIH H 48 AR & 3rararn
42 % 3R 11 a7 3R Fo

u«:u%
T

TR dTg

g Zrﬁ\’ﬁfr@rcmAu—u
TEIT § 224 30w &,
a?r J&IT 3T hIfAT]

(a) 11 (b) 13 (c) 15 (d) 17




5)A zoo has few numbers of penguins
and polar bears. The total number of
heads of both of them is 60 and the total
number of their feet is 160. How many
polar bears are there in the zoo?

Wﬁ%ﬂﬂ?ﬁ@@ﬁﬁ?ﬂ?ﬂw -]

Al Bl 3o aldl & c“r b
Hear 60 3R Y & Fo {-luu 160
g1 RfFR & e g oo §7
(a) 20 (b) 40 (c) 60 (d) 80

(SSC CHSL 2017, 23.03.2018 Shift-1)




6)Sum of four consecutive odd
numbers is 208. Find the largest

number.

i e

FTd [OYH G&I13T 1

I 208 &1 g9 F3r J&

GG

S0

(a)55 (b) 57 (c) 59 (d) 61
(b)(SSC CHSL 2017, 14.03.2018
Shift-2)




7)Find the number of prime factor of
1024.

1024 & HHTGT IUIES HI &I
EIGECIISLY

(a) 9 (b) 10 (c) 11 (d) 12




8)In a two-digit number, its units digit
exceeds its tens digit by 2 and that the
product of the given number and the

sum of its digit is equal to 460. The
number is: -]

ar 37t <hr Huu H, 3G 319
FT 3k S Ggls 4 ¥ 3E 2
Hﬁ?‘%ﬁ?aﬂéabm ch
0Tt 3R 3Hh 31T T IIT
460 ¥ SR &1 TEAT &

(a) 48 (b) 64 (c) 46 (d) 36

ol




9)N is the largest two digit number,
which when divided by 3, 4 and 6
leaves the remainder 1, 2, and 4
respectively. What is the remainder

when N is divided by 5?
NSl 37hl &I Hed d37 TE&IT g, -]
o8 3, 4 3R 6 ¥ fasnfaa =1
W HAA: 1, 2 3R 4 AV FIdT gl
T NF 5 F ST T e
g ol Aol FAT BT &7

(a) 4 (b)2(c)0(d) 1




T —

10)When the integer n is divided by 7,
the remainder is 3. What is the
remainder if 5n is divided by 77

S YUlieh nahl 7 & QAT fohar
ST &, aF A9 3 gar &1 IR
Snapl 7 @ fasnfaa Rar arar g,
al AT FIT giar g7
(a) 3 (b) 0 (c) 1 (d) 2




11)When 12, 16, 18, 20 and 25 divide the
least number x, the remainder in each
case is 4 but x is divisible by 7. What is the
digit at the thousands place in x?

&9 12, 16, 18, 20 3R 25 Fa&@

E?I'é’r FE xF ST |
gcdeh TUfd H A9F 4 §IdT &,
cfeheT x 78 fauT=T §1 xH §9IR &
TATT 9T 37k AT g7

(a) 8 (b) 4 (c) 5 (d) 3 (SSC CGL Tier-1l 2018,
11.09.2019)

ol

i




12)The sum of digits of a two digit
number is 1 7 of the number. The units
digit is 4 less than the tens digit. If the
number obtained on reversing its digits is
divided by 7. The remainder will be:

al 3T EAT & 3{ehl & AT 34
g&ar &1 1 7 gl SHIg FT 3+ gl
& HH F 4 FA ¢l Al $HD AT F

Jolcd W YIcd &IAT &l 7
fqafara fohar ST ar AYwST g9

(a) 5(b) 4 (c) 6 (d) 1 (SSC CGL Tier-1l 2018,
11.09.2019)

[




13)The remainder when 75 x 73 x
78 x 76 is divided by 34 is:
75x73x78x766$r34®r
faeniard e 9T AYHhe 9T

8T &

A (a) 15 (b) 22 (c) 18 (d) 12




14) If 14331433 x 1422

x 1425 is

divided by 12, then what is the
remainder?

Ifd 14331433 x 1422 x 1425
T ST, ar

A 12 O faiaa fe

AYHT FAT BIFI?
(a) 3(b)9(c)8(d)6




15)If the seven digit number 56 x
34y 4, is divisible by 72 then what
will be the minimum value of (x +

y)?

gfe gra 37t T T&IT 56 x 34

N[

v4, 728 Ta0ST 8§ b (x+vy) S
=TT AT FAT gEM?
(a) 12 (b) 8 (c) 14 (d) 5 (SSC CPO
2018, 13.03.2019 Shift-1)




16)If a 9 digit number 32x4115y2 is
divisible by 88, then the value of
(4x —Y) for the smallest possible

value of y,

e 9 3HPIT TEIAT 32x4115y2 -1
88 TANTST &, ol yh A+
HoTa AT F AT (4x—Y) HT
AT,

(a) 31 (b) 20 (c) -1 (d) 11 (SSC CGL
Tier-1 2018, 06.06.2019 Shift-2)




17)Let x be the least number which
when divided by 15, 18, 20 and 27, the
remainder in each caseis 10 and x is a

multiple of 31. What least number
should be added to x to make it a perfect
square? -n

AT x dg a8 BIET I&IT g 9a
15, 18, 20 3R 27 & fawfaa ==
W IS TUTT & A6 10 grar g
3 x 3187 IUIS gl 3§ qOT adt
amﬁésﬁ»rtrxﬁraﬁamrqdda
J&IT Sl AT dIgu?

(a) 39 (b) 37 (c) 43 (d) 36

ol




